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1X |% B % = % & fr|l 2,395 1,175 1,220 2,353 1,141 1,212| 2,339 1,137 1,202
2 X |6l Ja = figl 2,245 1,068 1,177 2,233 1,065 1,168 2,188 1,048 1,140
3SR i Ak B /N F O] 2,620 1,298 1,322 2,791 1,376 1,415 2,875 1,429 1,446
AX |/ W HE O o B OfE| 5,473 2,751 2,722 5,526 2,771 2,755 5,565 2,780 2,785
5X M == I = = 5 4 £ ff| 4,646 2,423 2,223 4,695 2,431 2,264| 4,786 2,459 2,327
6X |54 L F M B B & f§ 684 335 349 692 336 356 681 334 347
7 XK il N 5§ figl 5,211 2,550 2,661 5,205 2,571 2,634] 5,175 2,557 2,618
8X | R R A Al 4,597 2,249 2,348| 4,684 2,294 2,390 4,571 2,245 2,326
IX [ — % & R E BB 3,270 1,611 1,659 3,325 1,630 1,695 3,331 1,618 1,713
10K |4k s N B fig] 3,494 1,776 1,718 3,695 1,881 1,814| 3,928 1,981 1,947
11X [E 4 4 X BH & & f# 888 439 449 878 435 443 882 436 446
12K & 3 = figl 1,598 780 818 1,576 779 797 1,546 764 782
13X I 5] 9N 5§ figl 1,986 1,005 981 1,996 1,007 989 1,999 1,011 988
14X [ B F e =  fi5]l 1,680 832 848 1,664 826 838] 1,638 809 829
15K B B S X B B & fm| 3,256 1,634 1,622 3,273 1,656 1,617| 3,280 1,659 1,621
16X |/ 1 B Ww = f#E 367 184 183 361 181 180 353 174 179
17K [EHE IFERFRE -] 1,121 530 591 1,125 536 589 1,114 534 580
18K |t H /N B’ fiEl 1,450 739 711 1,453 740 713 1, 445 735 710
19X |IREFIREEMELEE ¥ — 1, 504 751 753 1, 507 753 754] 1,489 749 740
20X i K iE it fig] 3,629 1,734 1,895 3,607 1,744 1,863 3,564 1,713 1,851
21X |B Y & /% K1k & fE 5253 2,640 2,613 5,248 2,629 2,619] 5,240 2,617 2,623
22 () M B mr F OHE fE| 2,540 1,275 1,265] 2,604 1,310 1,294 2,638 1,320 1,318
23X [FE K ok FH O fE| 1,643 836 807 1,603 809 794 1,675 862 813
24X | E S /N B fif] 3,286 1,610 1,676 3,331 1,626 1,705 3,315 1,611 1,704
25X |HEMMETAEBSEST 2,395 1,191 1,204 2,389 1,191 1,198 2,375 1,176 1,199
26X |5 — ¥ KK FH fEl 4,520 2,258 2,262 4,536 2,274 2,262| 4,499 2,257 2,242
27X (W8 & b FH OHF  fE| 2,381 1,199 1,182 2,418 1,230 1,188 2,404 1,216 1,188
28K [ B A X B £ fEl 3,722 1,815 1,907 3,712 1,819 1,893 3,728 1,823 1,905
20X | B H ¥ K K FH OAE| 4,492 2,188 2,304| 4,448 2,174 2,274 4,502 2,199 2,303
3O | K /N % K K F #E| 5,220 2,543 2,677 5,189 2,527 2,662 5,114 2,503 2,611
31X |k FE #w ¥ B F 4 f5 1,629 816 813 1,616 818 798 1, 568 789 779
32X |78 #H W B % £ #F 3,528 1,836 1,692 3,563 1,849 1,714 3,679 1,901 1,778
33X |5 = fig]l 2,072 1,164 908 2,086 1,170 916/ 2,088 1,182 906
3AX | B N Bk B fEl 4,158 2,071 2,087 4,103 2,044 2,059| 4,044 2,010 2,034
35X It = 2 = = F 1 & fif| 4,425 2,239 2,186 4,400 2,224 2,176| 4,423 2,241 2,182
36X B8 = /¥ K F O 1,409 709 700| 1,381 694  687| 1,374 695 679
ST |IF M & £ &= i 1,089 547 542 1,078 540 538 1,058 527 531
38X I W O~ B W\m & fE 1,574 797 7771 1,555 791 764 1,528 775 753
SO | Jil /A ¥ IR F fE 2,144 1,057 1,087 2,122 1,049 1,073| 2,081 1,035 1,046
40K |MmEmEtty 2 —F 2o 2,341 1,215 1,126 2,328 1,211 1,117 2,302 1,199 1,103
41X |pg 15 b il 3,693 1,864 1,829] 3,669 1,851 1,818 3,676 1,860 1,816
42K & M # X A B & figl 3,630 1,80 1,780 3,585 1,833 1,752| 3,549 1,812 1,737
43K | KM 7 W /h% R EET S 2,779 1,419 1,360 2,731 1,392 1,339] 2,682 1,368 1,314
44K B9 5 M W 4 B O#5] 2,569 1,323 1,246 2,548 1,310 1,238| 2,538 1,304 1,234
45X 3,079 1,571 1,508 3,023 1,552 1,471 3,006 1,548 1,458
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127,685 63, 897 63, 788

127,905 64,070 63, 835

127,835 64, 002 63, 833
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